D -5 @ -3 ® -1 @ 3 ®s

(x+2)(x+b) =x*>+cx+6,
X2+ (2+b)x+2b=x%>+cx+6,
24+b=c,2b=06

Lb=3

et ¢ = 5







3xt — x2 - 25 A4E3| stoizet.

O (3x2-2)(x+1)(x-1) @ (3x2+2)(x-1)(x-1)
® (3x2+2)(x+1)(x+1) @ (3x2+3) (x+1)(x-1)
@(3x2+2) (x+1)(x-1)

@

A=

(%)

Z| &k 6]—1351

| l-n.[

3A2
(3A+2)(A 1)
(3x2+2) (x+1) (x-1)




4. 6x3-x2-5x+5)+(2x-1) 9 HEa UHAELH T W, a+bE

“FobH?
D352 +x+1 @ x2+x+1 @ 3x2+1
@ x24+x-1 ® 3x2+x

YA ol8stH g =3x2+x-2,b=3
La+b=3+x+1

B

ZHAHE 1§ &+ At

o, 2x~ 12 W B x— 2 e 9] o7 eiAt
ot
1) = (x-3) 0 + &




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
o Ag?

® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3




the S40] x o B FEAL W a-b+c o G2

2 =2x+4=a(x-1)(x-2) +bx(x—-2) + cx(x—-1)

® 8 Q)7 ® 3 @ 0 ® -3

0171 5410] x of gt G5 A0 B2 x o] o] ZLE st
T AR

x=0= Ystd

4=2a .. a=2

x= 12 ot

3=-b .. b=-3

x =25 YstdA

4=2c .. c=2




xofl ot ohA] (4x2-3x+1)° S AW ALS o, RE ASE (A4
3 o] g2?
D0 21 Q)= @ 64 ® 1024

B

(4x? = 3x + 1) & AZNste] xof izt AR o= A 2stH
(4x? = 3x+1)°= aopx'® + a1 X% + axx® + -+ - + agx + ajo T 20|
.

oq7|A BE ALE T

ag+ai+ax+---+a= THHH

x =15 tfdstd

£, (4-3+1)P°=ap+a1+ax+---+ai

HEASFEY &2 25 =32




f(x) =353 + px® 4+ qx+12 7hx+2 2% Hro]HofX| 1, 1 -1 B
Hrolgeld o, 4 o greo
p

© 9 @4 ® -9 @ -3 ® -12

f(=2)=-24+4p—-2q+12=0
f(1)=3+p+q+12=0
-12

p:_ga q:_12, 2:—:4
p -3




9. F oA x2 +ax+b, x>+ 3bx + 2a 9] HHFFF7F x - 14 o,
a+ bl T F5HH?

@ 2 @ 1 @0 @1 0o -

S5 ~
A gotsrt x- 10122

2 +ax+ b2t x?+3bx+2a=

R 12 o] WojAof g,
Cl4+a+b=0°21+3p+2a=0

o2k, a=-2, b=1

L a+b=-




10. 5 o3}l A, Bol tiste] A4t A, vE AAB=2A+ B, AYB=A-3B
2 Aot
A=2+3x2-x3 B=1x*+3x+ 1% W Av(BrA)E F+5IH?
@ 2x3 -18x-10 @2x3—12x2—18x—10

@ 2x® +12x2 + 18x + 10 @ 2x% 4+ 12x%2 4+ 18x - 10

® 2x® —12x2 + 18x+ 10

AV (BrA) = AV (2B + A)
—A-3(2B+A)=—-2A-6B
Aot Zol A& 7rds] A2t F A, Boll didste] A2t

- wy




(x+3)x+ (x+
= (x2+;x +( x+3
S )x2
6)

(x
+3)(x+2)

$2
+5x+6

A 1=

2 H =

3
QA4
12

3¢l
o
Aol A
g

—

_X_l

L,

__OH_
w
8

G
o
el

—

_Zﬁ
Gt

m
i
i~

Gl
o
E!

° @

I~
s

__OH
W

—

_Z_v
s

i

N
HO
i
=
_X_l
it
jant

i
N
Gt

ol
el

o,

—~,

~
o8

o

52|

& A8




12. a2 -b% -2 +2bc 9] A57} ofd ALY

@ a-b+c @ a+b-c ® —a+b-c
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